THE HIGH COURT OF MADHYA PRADESH : JABALPUR

(Exam Cell)

NOTIFICATION
No.- (043 /Exam/2020 Jabalpur, Dated- 22.02.2021

This is to publish the Proposed Model Answer Keys of the General
English & Computer Questions (Objective Type) for Online Examinations
of Private Secretary, Computer Operator & Assistant Grade-3 (SLSA)-2020,
held on 21-02-2021 (Sunday). High Court of M.P. intends to use the
Proposed Answers/keys in the evaluation of the aforementioned Question
Paper.

If any candidate wishes to make any objection / clarification etc.
regarding any Model Answer/Key, he/she may, submit it in writing, signed
by him to Principal Registrar (Exam), M.P. High Court, Jabalpur, or by
e-mail to "pregexamhcjbp@mp.gov.in" within 07 days from the date of
uploading / publication of the proposed Model Answers/Keys,
mentioning his / her Name & Online Application No., alongwith self attested
photocopy(s) of source document(s) / proof, on the basis of which he/she
has submitted the objection/clarification.

Objections received within aforesaid time and in aforesaid mode
shall be taken into consideration. However, any objection received without
any authentic proof/ source or after aforesaid stipulated period/time shall
not be considered on any ground whatsoever it may be, and shall stand
rejected without assigning any reason.

Objections received in aforesaid manner within aforesaid time limit
alongwith self attested copies of the source/proof, document shall be
considered and then the Model Answer shall be finalized and used as
Keys/model Answer for the generation of result/valuation of the Online
Exams of Private Secretary, Computer Operator & Assistant Grade-3
(SLSA)-2020.

After declaration of result, no representation regarding Question/
final Model Answer, shall be entertained on any ground and shall stand
rejected without assigning any reason.

In case no objection is received within prescribed time then
proposed model answer/key shall be treated as final and result will be
generated accordingly.

Encl. : General English & Computer Questions (Objective e) of all above
posts with Proposed Model Answers.
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HIGH COURT OF MADHYA PRADESH : JABALPUR

Online Exam of Personal Secretary (SLSA)-2020

Question Paper alongwith Proposed Model Answers

Q. Question / 94 Corre | Option 1 Option 2 Option 3 Option 4
No. ct
Optio
1 |Harishchandra was ....... honest 2 |a an the None of
king. these
2 |In the following questions, 1 |Gradual Hasty Blunt unexpected
Choose the opposite in meaning
to the given word and mark it in
the answer sheet.
Abrupt
3 |a sentence has been given in 1 Nanu said Nanu said Nanu said Nanu said
Direct / Indirect speech. Out of the that she had |that she had |that she has |that she has
four alternatives suggested, finished her |[finished my [finished her |finished my
select the one which best homework. |(homework |homework." |homework."
expresses the same sentence in
Indirect/ Direct Speech.
Nanu said, "l have finished my
homework."
4 |Fill the correct preposition in the 2 |of about with under
blanks.
She is worried her exams.
5 |Choose the correct form of 4 |was fighting |fight fights fought
adjective for the given sentence
The soldiers bravely in the
Civil War.
6 |The cat and the dog have a ........ 2 |same common mutual similar
enemy in the rat.
7 |She......... TV when her husband 2 |watch was is watching |watched
came. watching
8 |The train.....before we reach the 1 |will have has departed |is departing |was
station. departed departing |
9 |All arrangements have been made 1 |facilitate introduce proceed serve
to the visit of students to
the exhibition.
10 |The mother was anxious 2 |at about for upon
the safety of her son.
11 |Which of the following best 4 |dismiss delay destroy repeal
expresses the meaning of
"ABROGATE "
12 [My watch is five minutes 4 |early before behind slow
13 (Which of these is used to express 3 Present Past Simple Present
habitual actions ? continuous |continuous |present perfect
tense tense tense tense
14 | What is the part of the sentence 2 |Predicate Subject Phrase Clause

which denotes the person or thing
about which something is said?
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Q. Question / & Corre | Option 1 Option 2 Option 3 Option 4
No. ct
Optio
15 |One who goes to settle in another 4 |immigrant alien citizen emigrant
country -
16 |On entering the house, he found 4 |Steal steals Stealing Stolen
all jewels......
17 |On seeing the police, the thief 1 Running its running |run runs
started ..........
18 |We went to the .......... to see how 1 |Mint Mortuary Zoo Bank
coins are made
19 [Find Similar word for Alacrity 1 |Briskness Alarm Frankness |Fear
20 |Choose the Suitable word for bold 3 |Tenacity Paucity Necessity No
Word. Audacity is the mother of Improvemen
invention. t required
21 |ROM stands for ? 2 |Random Read only Ready only |None of
open memory memory these
memory
22 | Main page of web site is called ? 3 |Bookmark |Search page |Home page |Task bar
23 | What is the full form of CAD ? 1 computer computer compact None of
aided design |area design |area design |these
24 |“ext” file system was developed 3 |Mac OS Windows Linux Android
for which operating system ?
25 (Which one is an example of 1 |MS Excel MS Word MS Access |MS
spreadsheet software ? PowerPoint
26 |Kinds of main memory are - 3 |Primary and |Random and [RAM and All of these
secondary |sequential |[ROM
27 |One GB contains - 3 |1024 bytes |1024 KB 1024 MB None of the
these
28 |Web pages are written using . . . .. 4 |FTP HTTP URL HTML
29 |GUI stand for 1 |Graphical Graphical Graphical Graph Use
User Unique Universal Interface
Interface Interface Interface
30 |The default size of a Page in MS 2 |Legal Ad A3 Envelope

office or Libre office Writer is
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Online Exam of Computer Operator (SLSA)-2020
Question Paper alongwith Proposed Model Answers
Q. Question / U& Correct| Option 1 Option 2 Option 3 Option 4
No. Option
No.

1 |One who speaks for others. 1 Spokesman |Leader Supporter Naming

2 |Amount of money demanded by 3 Donation Honorarium |Ransom Salary
kidnappers.

3 |In the following, a sentence has 2 He said that |He said that |He said that |He said that
been given in Direct/ Indirect he was a heis aman. |lamaman. |lwasaman.
speech. Out of the four man.
alternatives suggested, select the
one which best expresses the
same sentence in Indirect/ Direct
Speech.

He said, "l am a man."

4 |In the following sentence has 2 The bank is | The bank The bank is |The bank
been given in Active/passive been robbed. |has been robbed. has robbed.
voice. Out of the four alternatives robbed.
suggested, select the one which
best expresses the same
sentence in Active/ passive voice.

Someone has robbed the bank.

5 |Fill the correct preposition in the 1 on at in to
blanks.
| saw an accident my way
home.

6 |Select the INCORRECTLY spelt 1 Atitude Business Intimacy Altitude
word.

7 |l went into the hostel to see what 2 are doing were doing |did doing
students.....

8 |Columbus....... America. 2 discovers discovered |has had

discovered |discovered

9 |We are —— with your behaviour. 2 please pleased pleasure being

pleasuring |

10 |Which of the following is 2 |truth fact falsehood story
antonyms of "MYTH"

11 |Which of the following is 1 fragmentatio |unity linking synthesis
antonyms of "INTEGRATION" n

12 |Which of these is not a part of 4 Verb Noun Preposition [Object
speech?

13 |Indirect speech is also called as : 1 Reported Quoted Simple Principal

speech speech speech speech

14 |Are you desirous 1 of in to about
visiting Japan ?
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Q. Question / 4 Correct| Option 1 Option 2 Option 3 Option 4
No. Option
No.
15 |In each of the following 3 Aprentice Aperentice |Apprentice |Apperentice
questions, find the correctly spelt
word.
16 [The train is......... out of the 3 Pulled Pulls Pulling Pull
platform now.
17 |Choose the Alternative for bold 2 Abuse me Cheat Me Hurt me Terrify Me
Phrase. You cannot throw dust in
my eyes
18 |Choose the Alternative for bold 4 In Detail Confidently |Exhaustively |In brief
Phrase. | want to tell you in manner
Nutshell; lust for money and
power ruined her life.
19 [l want the work....... at once. 3 |DO Doing Done Is Doing
20 2 Happiness |Prosperity Progress Misfortune
Choose the Antonym for
Adversity
21 |What is the address size of IPv6 ? 3 32 bit 64 bit 128 bit 256 bit
22 |Which of the following is a form 4 Vulnerability | Bandwidth [Connection |All of the
of DoS attack ? attack flooding flooding mentioned
23 [To speedup formatting and 2 Comment Macros mail merge |Ribbon
editing, feature of MS
word can be used.
24 (Which of the feature is used to 2 Clip Art Formula and [Table Diagram
compute dynamically the results Function
from Excel data?
25 |JPEG may be expanded as 3 Joint Joint Joint Joint
photographic|Physical Photographi |[Physical
Exports Experts ¢ Experts Exports
Group Group Group Group
26 |[Each computer or device 4 server system printer node
connected in the network is called
a
27 |Which is the formal description of 2 Standards Protocols Language Syntax
message formats and rules to be
followed by computers?
28 |Which of the following is a 4 Binary check- Transaction |All of these
database recovery technique? loggin pointing rollback
29 |In cyber security the full form of 1 Intrusion Intrusion Intrusion Intrusion
IPS is Prevention |provision Preservation |precaution
System system System system
30 [Which one of the following is not 4 float int double real
a correct variable type in C++
programs?
31 (Which of the following is an 1 Effective Improper No effect on [None of the
advantage of multiprogramming? utilization of |utilisation of |CPU these
CPU Memory utilisation
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Q. Question / UH Correct| Option 1 Option 2 Option 3 Option 4
No. Option
No.
32 |Find the incorrect statement from 4 |Aprocessis |Processis |Aprogram |Processis
the following: a program in |an active becomesa |not related
execution entity process with
when an Operating
executable |System atall
file is loaded
into memory

33 |In relation to operating system the 1 Process Premature Passive Primitive

word PCB stands for Control Control Clock Bond |center block
Block Break

34 |The following directory of Unix 2 Nlib /dev /bin None of the
contain devise related files: these

35 |Which type if directory gets wiped 1 Itmp Ivar /home None of the
away regularly by the system in these
context of Unix operating system:

36 |The modern computers are based 1 The above |The above |Can notsay [None of the
on a stored-program concept statement is [statementis |anything these
introduced by John Von correct wrong
Neumann. This model consists of
Central Processing Unit (CPU),
the Main memory Unit and
Input/Output Device.

37 |Which among following is an 3 CAD CAM DMA MMA
important data  exchange
technique ?

38 |EEPROM stands for 2 Easily Electrically |Electrolyte |Easily or

Erasable Erasable Erasable Erasable
Programmab |Programmab |Programmab |Programmab
le Read Only |le Read Only |le Read Only |le Read Only
Memory Memory Memory Memory

39 |In terms of Software engineering, 4  |V-Model Incremental [Spiral Model [DOCOMO
which one is not a correct Model Model
Process Model

40 |COCOMO Stands for 4 Common Composition [Consumed |Constructive

control cost Model |[cost Model |Cost Model
Model

41 |The main distinguishing feature of 2 |Liberal use [Artificial Extremely Versatility
fifth generation computers will be of Intelligence |low cost

microproces
sors

42 |The type of processor 2 CIsC RISC ViSC LISC
architecture that utilizes a
small,highly optimized set of
instructions is

43 |RAID stands for 4 Reproduce |Reproduce |Redundant [Redundant

Array of Array of Array of Array of
Intelligent Inexpensive |Intelligent Inexpensive
Disks Disks Disks Disks
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Q. Question / 4 Correct| Option 1 Option 2 Option 3 Option 4
No. Option
No.
44 |Which of the following can be 3 |Web Intranet Hadoop All of the
identified as cloud? Applications mentioned
45 |Amazon Web Services offers a 3 laasS SaaS Paa$S All of the
classic service Oriented mentioned
Architecture (SOA) approach to
46 |Which of the following cloud 3 Polymorphis |Abstraction |Virtualization |[None of the
concept is related to pooling and m mentioned
sharing of resources ?
47 |Which memory is concerned 3 Main auxiliary Cache Virtual
"locality of reference Phenomenon memory memory memory memory
48 |Paging suffer from 4  |Starvation under flow |external internal
fragmentatio |fragmentatio
n n
49 |which of the following is the most 2 a a centralized |software none of the
accurate defination of database computerize |collection of |designed to |these
d record- enterprise access and
keeping data manipulate
system data
50 |which of the following is not 4  |the network |the hierarchical |the network
correct? model used |hierarchical |model had |modelis
acyclic with |model was |difficulty navigational
nodes and |basedona [representing |while the
edges. tree many -to- hierarchical
structure in |many model is not
which there |relationships
was one
specially
designated
node called
the root of
the tree
51 Which of the following is 1 High level Low level Machine Assembly
machine independence program? language language level language
language
52 |Which of the following statement 1 Foreign key |In primary primary key |All
is true? fields allow |key field you |is a statements
duplicate can enter candidate are true
values duplicate key
value
53 |What function displays row data 2 Hyperlink Transpose |Rows Index
in a column or column data in a
row in spreadsheet packages?
54 |Which of the following is a 3 Protection |Compilation |Accounting (I/O Operation
service,not supported by the
Operating System?
55 |A program in execution is called 3 Procedure Process Instruction |Function
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No. Option

No.

56 |Which of the following is used to 1 Primary Virtual Internal Minor
hold running program Storage Storage Storage Devices
instructions?

57 |Assembler is used as a translator 1 Low level High Level |COBOL Cc
for? language Language

58 |Select the Odd one 1 Operating Interpreter [Compiler Assembler

system

59 |What is the maximum font size 2 163 1638 16038 |none of
you can apply for any character these

60 [The FIFO algorithm 2 executes executes execute first |executes

first the job [first the job [the job that [first the job
that last that first has been in |with the
entered the |entered the |the queue least
queue queue the longest |processor
needs
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Q. Question / U Correct| Option 1 Option 2 Option 3 Option 4
No. Option
No.
1 |Fill in the appropriate word in the 4 wear to wear wearing wears
blank.
She a uniform.
2 |Fill the correct preposition in the 1 to with at in
blanks.
Mr. Collins always talks
himself.
3 |Select the INCORRECTLY spelt 3 Fiery Flounder Founten Finite
word.
4 |These days everybody complains 1 about on of against
corruption in public life.
5 |The girls became —— on seeing 2 |excite excited exciting excitedly
the eclipse.
6 |Something capable of being done. 3 Explicable |Tenable Feasible Probable
7 |Which of the following is correctly 2 Hindrence Hindrance Hinderence Hinderance
spelt word -
8 |(Out of the four alternatives, 1 Alimony Parsimony |Matrimony Honorarium
choose the one which can be
substituted for the given
words/sentences An allowance
made to a wife by her husband,
when they are legally separated.
9 |HeIS .oumsssnans lunch now. 3 |has have having had
10 |My grandfather walks 2 quick fast fastly nice
very (Note: complete
the sentence with the correct
option)
11 |The taskbar is located ? 2 On the start |at the at the top of |None of these
menu bottom of the screen
the screen
12 |If we press F7 in a word file, it 2 select the checks error the line |view the line
will ? line spelling and
grammar
13 |What is the name of the program 4 File Manager |Browser Application Operating
that controls a computer Program system
14 |(Which of the following is not an 3 C.D. D.V.D. Loop pattern |Hard disk
example of storage device?
15 |Which of the Number System is 4 Hexadecimal |Octal system |ASCII Binary system
the basic for computer operation ? system
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Q. Question / U4 Correct| Option 1 Option 2 Option 3 Option 4
No. Option

No.
16 |The brain of any computer system 3 ALU Memory CPU Control Unit
is
17 |(Which of the following is not an 3 UNIX Linux MS Office Window XP
operating system -
18 ["Wi-Fi"is - 3 Wireless For |Wireless Wireless Wireless
Internet Federation |Fidelity Internet
19 |What is the full form of PDF? 3 Printable Public Portable Phonetic
Document Document Document Document
Format Format Format Format
20 |A Computer Port is used to 3 Communicat |[Download Communicate [None of
e with Hard |Files with other These
Disk Peripherals— |
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